

On the Diophantine equation $(p + 2)^x - p^y = z^2$, where p is prime and $p \equiv 5 \pmod{24}$

Suton Tadee, Napalai Laomalaw

Department of Mathematics
Faculty of Science and Technology
Thepsatri Rajabhat University
Lopburi 15000, Thailand

email: suton.t@lawasri.tru.ac.th, napalai.s@lawasri.tru.ac.th

(Received November 7, 2022, Accepted December 2, 2022
Published January 23, 2023)

Abstract

In this paper, we show that $(0, 0, 0)$ is the unique non-negative integer solution (x, y, z) for the Diophantine equation $(p + 2)^x - p^y = z^2$, where p is prime and $p \equiv 5 \pmod{24}$.

1 Introduction

In 2013, Sroysang [4] proved that the Diophantine equation $5^x + 7^y = z^2$ has no non-negative integer solution. In 2020, Gupta et al. [1] found all non-negative integer solutions of the Diophantine equation $p^x + (p + 2)^y = z^2$, where p and $p + 2$ are primes. In 2021, Thongnak et al. [5] proved that the Diophantine equation $7^x - 5^y = z^2$ has the unique non-negative integer solution $(x, y, z) = (0, 0, 0)$. In this paper, we will study all non-negative integer solutions of the Diophantine equation $(p + 2)^x - p^y = z^2$, where p is prime (but $p + 2$ doesn't have to be prime) and $p \equiv 5 \pmod{24}$.

Key words and phrases: Diophantine equation, Mihăilescu's Theorem

AMS (MOS) Subject Classifications: 11D61.

The corresponding author is Napalai Laomalaw.

ISSN 1814-0432, 2023, <http://ijmcs.future-in-tech.net>

2 Preliminaries

Theorem 2.1. [3] (Mihăilescu's Theorem) *The Diophantine equation $a^x - b^y = 1$ has the unique solution $(a, b, x, y) = (3, 2, 2, 3)$, where $a, b, x, y \in \mathbb{N}$ and $\min\{a, b, x, y\} > 1$.*

Theorem 2.2. [2] *The number 2 is a quadratic residue of primes of the form $p = 8k + 1$ and $p = 8k + 7$. The number 2 is not a quadratic residue of primes of the form $p = 8k + 3$ and $p = 8k + 5$.*

Lemma 2.3. *Let p be prime. Then the Diophantine equation $1 - p^y = z^2$ has the unique non-negative integer solution $(y, z) = (0, 0)$.*

Proof. Let $y, z \in \mathbb{N}_0$ such that $1 - p^y = z^2$. Since $z^2 \geq 0$, we have $1 - p^y \geq 0$. Then $y = 0$ from which it follows that $z = 0$. \square

Lemma 2.4. *Let p be prime. Then the Diophantine equation $(p+2)^x - 1 = z^2$ has all non-negative integer solutions $(p, x, y) \in \{(p, 0, 0), (3, 1, 2)\}$.*

Proof. Let $x, z \in \mathbb{N}_0$ such that $(p+2)^x - 1 = z^2$. If $x = 0$, then $z = 0$ and so $(p, x, z) = (p, 0, 0)$. If $x = 1$, then $p = (z-1)(z+1)$. Thus $z-1 = 1$ and $z+1 = p$. Then $z = 2$ and $p = 3$. That is, $(p, x, z) = (3, 1, 2)$. For the case $x > 1$, it is easy to check that $z > 1$ which is impossible by Theorem 2.1. \square

3 Main results

Theorem 3.1. *Let p be prime and $p \equiv 1 \pmod{4}$. If the Diophantine equation $(p+2)^x - p^y = z^2$ has a positive integer solution, then x is even and $2(p+2)^{\frac{x}{2}} = p^y + 1$.*

Proof. Let $x, y, z \in \mathbb{N}$ such that $(p+2)^x - p^y = z^2$. Since p and $p+2$ are odd, we get $z^2 \equiv 0 \pmod{4}$. Thus $0 \equiv (p+2)^x - p^y \equiv [(-1)^x - 1] \pmod{4}$. Then $x = 2m$, for some $m \in \mathbb{N}$. Then $p^y = ((p+2)^m - z)((p+2)^m + z)$. Since p is prime, we have $(p+2)^m - z = p^u$ and $(p+2)^m + z = p^{y-u}$, for some $u \in \mathbb{N}_0$. Then $y \geq 2u$ and $2(p+2)^m = p^u(p^{y-2u} + 1)$. If $u > 0$, then $p \mid 2(p+2)^m$ and so $p = 2$ which is impossible since $p \equiv 1 \pmod{4}$. Consequently, $u = 0$ and $2(p+2)^m = p^y + 1$. \square

Corollary 3.2. *The Diophantine equation $15^x - 13^y = z^2$ has the unique non-negative integer solution $(x, y, z) = (0, 0, 0)$.*

Proof. Let $x, y, z \in \mathbb{N}_0$ such that $15^x - 13^y = z^2$. If $x = 0$ or $y = 0$, then $(x, y, z) = (0, 0, 0)$ by Lemmas 2.3 and 2.4, respectively. For the case $x \geq 1$ and $y \geq 1$, we have x is even and $2 \cdot 15^{\frac{x}{2}} = 13^y + 1$, by Theorem 3.1. This is impossible since $2 \cdot 15^{\frac{x}{2}} \equiv 0 \pmod{3}$ and $13^y + 1 \equiv 2 \pmod{3}$. \square

Corollary 3.3. *The Diophantine equation $19^x - 17^y = z^2$ has the unique non-negative integer solution $(x, y, z) = (0, 0, 0)$.*

Proof. Let $x, y, z \in \mathbb{N}_0$ such that $19^x - 17^y = z^2$. If $x = 0$ or $y = 0$, then $(x, y, z) = (0, 0, 0)$ by Lemmas 2.3 and 2.4, respectively. For the case $x \geq 1$ and $y \geq 1$, we have $x = 2m$, for some $m \in \mathbb{N}$, and $2 \cdot 19^m = 17^y + 1$, by Theorem 3.1. Since $17^y + 1 \equiv 2 \pmod{8}$, we get $2 \cdot 19^m \equiv 2 \pmod{8}$. Thus $19^m \equiv 1 \pmod{4}$ and so $(-1)^m \equiv 1 \pmod{4}$. Then $m = 2n$, for some $n \in \mathbb{N}$. Thus $2 \cdot 2^{2n} \equiv 2 \cdot 19^{2n} \equiv 17^y + 1 \equiv 1 \pmod{17}$. This is impossible since $2 \cdot 2^{2n} \equiv \pm 2, \pm 8 \pmod{17}$. \square

Theorem 3.4. *Let p be prime and $p \equiv 5 \pmod{24}$. Then the Diophantine equation $(p + 2)^x - p^y = z^2$ has the unique non-negative integer solution $(x, y, z) = (0, 0, 0)$.*

Proof. Let $x, y, z \in \mathbb{N}_0$ such that $(p + 2)^x - p^y = z^2$. If $x = 0$ or $y = 0$, then $(x, y, z) = (0, 0, 0)$ by Lemmas 2.3 and 2.4, respectively. Next we consider case $x \geq 1$ and $y \geq 1$. Since $p \equiv 1 \pmod{4}$, we have $x = 2m$, for some $m \in \mathbb{N}$, and $2(p + 2)^m = p^y + 1$ by Theorem 3.1. Since $p \equiv -1 \pmod{3}$, we get $2 \equiv (-1)^y + 1 \pmod{3}$. Then $y = 2k$, for some $k \in \mathbb{N}$. Since $p \equiv 5 \pmod{8}$, we obtain $2(p + 2)^m \equiv 2(-1)^m \pmod{8}$ and $p^y + 1 \equiv 5^{2k} + 1 \equiv 2 \pmod{8}$. Then $2(-1)^m \equiv 2 \pmod{8}$. Then $m = 2t$, for some $t \in \mathbb{N}$ and so $2(p + 2)^m = 2(p + 2)^{2t} \equiv 2^{2t+1} \pmod{p}$. Since $p^y + 1 \equiv 1 \pmod{p}$, we get $2^{2t+1} \equiv 1 \pmod{p}$ and so $(2^{t+1})^2 \equiv 2 \pmod{p}$. Hence 2 is a quadratic residue of p , a contradiction to Theorem 2.2 since $p \equiv 5 \pmod{8}$. \square

References

- [1] S. Gupta, R. Kumar, S. Kumar, On the non-linear Diophantine equation $p^x + (p + 2)^y = z^2$, *Elem. Educ. Online*, **19**, no. 1, (2020), 472–475.
- [2] R. Jakimczuk, The quadratic character of 2, *Math. Magazine*, **84**, (2011), 126–127.
- [3] P. Mihăilescu, Primary cyclotomic units and a proof of Catalan’s conjecture, *J. Reine Angew. Math.*, **572**, (2004), 167–195.
- [4] B. Sroysang, On the Diophantine equation $5^x + 7^y = z^2$, *Int. J. Pure Appl. Math.*, **89**, no. 1, (2013), 115–118.
- [5] S. Thongnak, W. Chuayjan, T. Kaewong, The solution of the exponential Diophantine equation $7^x - 5^y = z^2$, *Mathematical Journal by The Mathematical Association of Thailand Under The Patronage of His Majesty The King*, **66**, no. 703, (2021), 62–67.